Mathematics 9

Day 2: Consecutive Numbers

Date:
Unit 4: Word Problems

Consecutive Integer Problems

4. a) Complete the charts using Consecutive Integers:
consecutive integers. First | Second | Third Sum of all Three
Integer | Integer | Integer | Consecutive Integers
Consecutive: 1 2 3 1+2+3 =k
Ft(k)lllov'wng C(i)ne after 10 X 17 | \ori412 = 33
anotnher in oraer — In an
. 29 2o 3l [294%431 = 90
unlnterrupted seguence.
n N+l N4 n4ntl4nt2= 3043
First Second Third First Second Third
Even Even Even Sum of all Three odd Odd odd Sum of all Three
| Even Integers Odd Integers
nteger Integer | Integer Integer Integer Integer
2 4 6 2+4+6 1 3 5 l4+> 49
16 19 20 l6+18+20 29 31 EX) 29+ + 33
n N+ n+l n N+2 N+4 nan424n4y

Using the ideas from the charts above, solve the following problems in your notebooks.

b)

c)
d)
e)
f)

9)
h)
i)

)

Determine three consecutive integers whose sum is 246.

(** ‘Let n, n+1, n+2 represent the numbers’ should be the opening statement)

Determine three consecutive integers whose sum is 1026.

Determine four consecutive integers whose sum is 490.

Determine four consecutive integers whose sum is 106.

Determine five consecutive integers whose sum is —115.

Determine three consecutive odd integers whose sum is 39.

Determine three consecutive even integers whose sum is 222.

There are three consecutive integers so that when the double of the first is added to triple the second
and then added to double the third, the result is 406. Determine the original integers.

There are four consecutive even integers. When double the third is subtracted from the sum of the first

two, the resultis...?

Answers:

3. a)
d)
4. b)
e)
h)
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Erie 60m, Ontario 240m b)

Lacey 18, Joey 6

81,82,83

25, 26, 27, 28

72,74,76

Angel 1000m, Niagara 50m c) Erie 387km, Ontario 310km
f) 3,8

d) 121,122,123, 124

g) 11,13,15

e) Bill 19, Mother 41

c) 341,342,343

f) -25,-24,-23,-22,-21
i) 57,58,59



Lo ket 0, n_(.l’n-l-'l rc(:re.sen—l- He numberg

N+ CasD) ++2) = 24k
ntntlintd =24k
Aa43%3.246-3
3 - 242
3 3

lﬂ=g|

The numbes are gfl 92, &3

c. let a,ntl ,n+t2  be the numbers,
n+n=l+ n+t = {026

dn +53= 026-3

8(\ = !023
= 3
n = 341

S The numberss ac 3'_{')3L{2f 343

WNWW“MMMWW\WVWMWWM
d. het n, V\-l-l-,n-k'l-,ﬂ-l-:S V'Cf’f!suﬂ‘""k Nuni bees

N4 ntl ant2tot+2= L9o
Lntb-6 = 4q90-4

Un = H%Y
4 r

[n < 12]

o The numbers ae 121, 122,18, 124

.?. )‘\6"' n) n-l-l, h-l-'ll n+3,ﬂ+L| r([:> v Fle run be-5
Nt n4{4nil4Antd 40ty = -1y

5n 4 lo-l0 =-115 -I0
5n = -l25%
> 5

(n:~1f,‘[

ke numbes  are ‘-9—';:'2‘4]—‘131_2’27 -2]



8_0Le+ nLnt2, "t be e o

han+ L tn+y = 39
6ﬂ+b'—b = gq -b

3n =33
z 3
n = ||

’—Th-_ numbers Grc U}lbf'r

D, Jet n,nx 2, nay e te Hg
N4 Nt L tnay = 2%
%f\-l L—é =222 -6

dn =216
Y 3

o The Nura lbery O= 72! 7(.{’ +5

;- )\6"‘ n, n"‘f’\ nt 2 Yep. .H'-S‘
AL S
2n +3n+1) + Lln+2) = Yob

2n +2n+312rtY = ULO6
Fn 4+t t= 4os-F

fn =299
+ 7

. The tumbers @re 5 58,59

0. Le+ n’n-l-?-, n+ Y .ﬂ*l‘L-? rep. He number s
Ny}‘@nd sub L for n

V 2 4, b, ¥ ar possibl four conscoutre even 'Pn»‘-\'-@va\

_ _ 6-I2
(Q+9)- 2(6) = °

o
} (n-m-k?; ,Q(n+q)

_ 20417
>
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1.a)

b)

b)
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The ages of Sean and Ricky add up to 21.

i) Use the table at right to show possible ages.
i) Determine the difference in their ages.

Use the table to help solve the following problem:

The ages of Sean and his younger brother Ricky add up
to 21. If the difference of their ages is 13, determine their

ages. Let "a' rep Scans aj(_
Jean | 2icky
a 2l -a

< N\
a-l(21-a) < 13
a-2'+q =13

Qo-21V'S 1342
da = 2Y

The sum of two numbers is 73.
i) Use the table to show possible numbers.
i) Determine twice the second number.

iii) Determine the first number plus twice the
second number.

Use the table to help solve the following
problem:

The sum of two numbers is 73. The first
number plus twice the second number is 118.
Determine the two numbers.

J\C+ "ot rep 't &
, zné
n ,43-1’1

~ N\
n 4+ 2(?3‘?1) = [l
n + lHé‘Qn = “8

We-n = |18
-N = H?—-l”‘b

-N = -17
|
- o —Tl‘-(, nuna /_S Qre

IS"‘

Sean’s | Ricky’s Difference in
Age Age Ages
20 1 20-1 =\9
19 | 2 19-2=17
15 6 15-b=
a | dl-a Q-01-a)=2a2

L S(en (s ’?'(769-0' olol

?,‘gk& 0 qdwa old

i Twice the | The First Plus
First Second _
Number | Number Second Twice the
Number Second

1 72 2% 72 1+2x72

2 + AxF1 J 427

10 | 63 A6 1042463

n |30 | 2@5-n) [n42{F2n)

28 and ?3-28‘:&,5‘
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4. a) The sum of two numbers is 85. Twice one number plus four times the other is 218. Determine the
numbers.

b) One number is 25 more than another. Twice the larger is 5 more than 7 times the smaller number.
Determine the numbers.

¢) The sum of two numbers is 125. Five times one of the numbers minus three times the other is 297.
Determine the numbers.

q. Let+ av rep He  num.

g5t 2nd e The nuaben o~c 6l and §5-61-1
n (8'3'-'1
A~ N\
In + y(87-n) =218
U + 3O -Un = 218
awe O
‘ZV"\-SLIO =213 -34
“2n
-2 -2

- \——\

Lo Aet A" rep +le "Fi‘rs-l- aa Lo

lsi" [ N4 T vumbws @ 9 qnd 3y
O \ N+ 25
~—
9(n+29) = 1n +5
s _
Int 50 = Fn +95 -5
1n 495" 2n= 70‘7-"\
L['-)_—_..z;_n
— 3
n="°
— —_—
C. det “n re “H,c -Fvﬁ‘l" N be ~
[5"' '1(‘5 h .___lgkf
a |25 . The numbes are 8l and 125-81=45

Tn _Y05-n)= 227
G 335430 ;-}'“'?
G 3352 2974377
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